

۱- پاسخ را درست کنید.

الف) $3 \times (5 - 2) \times 9 =$

ب) $9 (2 \times 3) =$

ج) $13 + (13 - (42 \div 7)) =$

د) $7 \div 2 + 5 - 3 \times 5 + 2 \times 4 =$

ه) $4 + 3(8 - 5) =$

و) $4 + 5 \times 2 - 3 =$

ز) $0.75 + (4 \div 0.75 - 1.4 \times 5) =$

ح) $10 + 2 + 3 \times 7 - 2 =$

ط) $2 + 2(3 + 3(4 + 4(5(2 \times 5 + 1.75 \times 5)))) =$

ع) $29 - 9 \times 3 - 4 \times 0.75 =$

ج) $11 \times 9 - (3 \times 4 \times 5) + (4 + 12) =$

ط) $14 - 0.2(5.9 - 2.4) =$

ظ) $17 + 3(1 \div 2(3 + 12)) =$